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5 5HEL/#95.5cm X 57=2,750 |

558U /5#/193.50m X 2@=1,2007]

u 2%

55%L/#3.8cm X 532=1,9007 |

55%L/#3.8cm X 53z=1,9007 |

558Y/#18cm X 4xx%=10,800 |

558L/#94.5cm X 6327=2,700/ |

[558Y/#97.50m X 7%=7,8754 | 558Y/#6.50m X 8x7=7,800 |

ABEL/#6.5cm X 43z5=2,600™
A5EL/#10em X 2375=2,000

558Y/#10cm X 7325 =10,500F |
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558Y/#96.50m X 3335 =32,1751 |
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55U /#/#2.5cm X 90@=9,000 |

;‘?*“Hﬁh

T GO TR TED

Q

55U /4/#92.5cm X 90f8=9,000M |
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ABEL/#3.8cm X b= 1,900M
A5HY/#T7.5ecm X Tstx= 7,875H
AEEL/#5/#3.5cm X 2E=1,200M

ABEL/HM10ecm X 2xxE= 2,000™

A5EY/#10ecm X7xxE= 10,5001
AB5EY/#6.5cm X 3337 = 32,1750
SHBEL/8/#2.5cm X 90E = 9,000

AEEL/#3.8cm Xbxxxz= 1,900m8 A558Y/#18cm X4xxz= 10,8000
A58EY/#6.5cm X8xzF=7,800m AB5EL/#5.5cm XbxzE= 2,7509
SBEL/#6.5cm X4szE= 2,600m  A5EL/#Hbem X80zx2= 32,000™

SBEEL/H2/#2.5cm X 90@E= 9,000

flmreast 131,5009

S5EL/hcm X 803 =32,0007 |




